Exam 1 Calculus 2 2/1/23

Each problem is worth 10 points. For full credit provide good justification for your answers.
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3. Write the appropriate form for a partial fractions decomposition of the function
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6. Evaluate /

:L'3

V1—2x2

dz




7. Bunny is a Calculus student at Enormous State University, and she’s having some
trouble. Bunny says “Ohmygod, Calc 2 is the hardest class evvarr! We had this one
problem on our first test, like integrate 1 over z squared from —2 to 5, right? And I
did the antideriva-thingie, then plugged in 5 and —2 just like usual, right? And they
gave me no credit! Not even partial anything! I think they just want everyone to drop
so they can have more time for their research, right?”

Help Bunny out by explaining what might have led to the harsh grading (beyond selfish
faculty).
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8. Derive Line 20 from the Table of Integrals,
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9. Derive Line 17 from the Table of Integrals,
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